Chapter 11 Volume Study Guide Part 2:

Key

Volume of Prisms, Cylinders, Pyramids, Cones, Spheres and Composite Figures

Directions: Please show ALL work to justify your answer.
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8) Find the volume of a Sphere with a circumference of

3
Y
7) \Is = q"—
16m.

e =Yy 1® C=2nr
\_ 3 vw= e

\391 LT Q=Y )
= e, = AIss V= 41
Name the 3-D Solid: LMMMSPWC' = w Q"b@')
Volume: \{ - a |‘ gg\ (l\l"‘-‘s Volume:N = (0%3’] U‘; : |
9) What would happen to the volume of a 10)  What would happen to the volume of the
cone if the height were doubled? prism below of the length and W’idt_h were

changed by a factor of % ?
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11) The volume of a square pyramid is 1280 cm3 and the area of the base is 256 cmz2. Find the base edge length,
height and slant height of this figure. Ab .
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12)  The volume of a cylinder is 15731 and the area of the base is 121n. Find the diameter and height of the

cylinder. R
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13) Estimate the number of gallons required to fill a cylindrical tank that has a diameter of 40 feet and a height
of 35 feet if 1 gallon of water is approximately 0.134 ft3. Round your answer to the nearest tenth
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14) Lisa needs to store 8 boxes while she is r}£vm‘vg Each%?)x is a cube with edge length 3 feet. A storage facility
charges $0.75 for every cubic foot of storage per month. Find the amount of money Lisa will pay to store

her boxes for one month. h.o _]
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Find the volume of the following composite shapes. Round to the nea undredth essary.
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